Generalized mean transforms of EP and binormal operators

Safa Menkad and Sohir Zid

Communicated by Harikrishnan Panackal

MSC 2010 Classifications: Primary 47A05; Secondary 47B49.

Keywords and phrases: Generalized mean transform, Positive operators, EP operators, Binormal operators, Moore-Penrose inverse.

The authors would like to sincerely thank reviewers and editor for helpful comments and suggestions that improved the quality of our paper.

Corresponding Author: Safa Menkad

Abstract Let $T \in \mathcal{B}(\mathcal{H})$ be a bounded linear operator on a Hilbert space \mathcal{H} , and T = U|T| be its polar decomposition. For $\lambda \in [0, 1]$, the generalized mean transform of T is defined by

$$\widehat{T}_{\lambda} = \frac{1}{2} (|T|^{\lambda} U|T|^{1-\lambda} + |T|^{1-\lambda} U|T|^{\lambda}).$$

The aim of this paper is to investigate the generalized mean transform of closed range operators, *EP* operators and binormal operators.

1 Introduction

let $\mathcal{B}(\mathcal{H})$ be the algebra of all bounded linear operators on a separable complex Hilbert space \mathcal{H} . For an arbitrary operator $T \in \mathcal{B}(\mathcal{H})$, we denote by $\mathcal{R}(T)$, $\mathcal{N}(T)$ and T^* for the range, the null subspace and the adjoint operator of T, respectively. For any closed subspace M of \mathcal{H} , let P_M denote the orthogonal projection onto M.

An operator $T \in \mathcal{B}(\mathcal{H})$ is said to be positive if $\langle Tx, x \rangle \geq 0$ for all $x \in \mathcal{H}$, partial isometry if $TT^*T = T$, quasinormal if $[T, T^*T] = 0$ and binormal if $[TT^*, T^*T] = 0$, where [A, B] = AB - BA, for any operators A and B. We refer the reader to [3, 7, 14, 18], for more details about these classes of operators. Now, we recall the notion of the Moore-Penrose inverse that will be used in this work. For $T \in \mathcal{B}(\mathcal{H})$, the Moore-Penrose inverse of T is the unique operator $T^+ \in \mathcal{B}(\mathcal{H})$ which satisfies:

$$TT^+T = T, \ T^+TT^+ = T^+, \ (TT^+)^* = TT^+, \ (T^+T)^* = T^+T$$

It is well known that the Moore-Penrose inverse of T exists if and only if $\mathcal{R}(T)$ is closed. In this case $\mathcal{R}(T^+) = \mathcal{R}(T^*)$, $TT^+ = P_{\mathcal{R}(T)}$ and $T^+T = P_{\mathcal{R}(T^*)}$. The operator T is said to be EP operator, if $\mathcal{R}(T)$ is closed and $TT^+ = T^+T$. Obviously, every normal operator with closed range is EP but the converse is not true even in a finite dimensional space.

For an operator $T \in \mathcal{B}(\mathcal{H})$, there is a unique polar decomposition T = U|T|, where $|T| = (T^*T)^{\frac{1}{2}}$ is the modulus of T and U is the associate partial isometry satisfying $\mathcal{N}(U) = \mathcal{N}(T) = \mathcal{N}(|T|)$. Then

$$UU^* = P_{\overline{R(T)}} = P_{\overline{R(|T^*|)}} \quad and \quad U^*U = P_{\overline{R(T^*)}} = P_{\overline{R(|T|)}}$$

Moreover, $T^* = U^*|T^*|$ is the polar decomposition of T^* and the equality $U|T|^{\alpha} = |T^*|^{\alpha}U$ holds for any $\alpha \ge 0$. Related to the polar decomposition, the λ -Aluthge transform of $T \in \mathcal{B}(\mathcal{H})$ is defined by Okubo [16] as $\Delta_{\lambda}(T) = |T|^{\lambda}U|T|^{1-\lambda}$, for $\lambda \in [0, 1]$. Notice that $\Delta_0(T) = T$ and $\Delta_{\frac{1}{2}}(T) = \Delta(T)$ is the classical Aluthge transform [1] and $\Delta_1(T) = |T|U$ is the Duggal's transform. One of the interests of λ -Aluthge transform lies in the fact that it respects many properties of the original operator. the λ -Aluthge transform is very useful, and many authors have obtained results by using it (see for instance, [1, 10, 15, 16, 17, 20]). Later, the mean transform \hat{T} of the operator T was introduced by S.H. Lee et al in [12] and is given as

$$\widehat{T} = \frac{1}{2}(U|T| + |T|U).$$

This definition has been generalized recently in [2]. For $\lambda \in [0, 1]$, the generalized mean transform \widehat{T}_{λ} of T is defined by

$$\widehat{T}_{\lambda} = \frac{1}{2} (|T|^{\lambda} U|T|^{1-\lambda} + |T|^{1-\lambda} U|T|^{\lambda}).$$

Especially, $\hat{T}_0 = \hat{T}$ and $\hat{T}_{\frac{1}{2}} = \Delta(T)$. In recent years, the relationship between operators on a Hilbert space and their mean transform have been investigated by many authors for example, S.H. Lee et al [12] showed that quasinormal operators are exactly the fixed points of the mean transform. Later, In [4, 5] Chabbabi and Mbekhta discussed when the mean transform of an operator in $\mathcal{B}(\mathcal{H})$ is invertible or self-adjoint or normal. Also they proved that the mean transform the generalized mean transform of EP operators and binormal operators.

The paper is organized as follows. In section 2, at first we show that if T is an operator such that the null subspace of its adjoint is contained in its own null subspace, then T has a closed range if and only if its generalized mean transform has a closed range too. Secondly, we prove that the generalized mean transform preserves the class of EP operators. Lastly, we provide various reverse-order laws for Moore-Penrose inverse of T, \hat{T}_{λ} and $\Delta_{\lambda}(T)$.

In Section 3, we investigate when an operators and its generalized mean transform both are binormal. Afterwards, we proved that if $T \in B(H)$ is a binormal operator with closed range, then the range of it's generalized mean transform is also closed. Finally, we discuss the polar decomposition of generalized mean transform. Precisely, we prove that if $T \in B(H)$ is a binormal operator with closed range, and T = U|T| is its polar decomposition, then $\widehat{T}_{\lambda} = U^*U^2|\widehat{T}_{\lambda}|$ is the polar decomposition of \widehat{T}_{λ} . This result was also proved in [13, Theorem 4.14], for the generalized Aluthge transform.

To achieve our main results we have to use some auxiliary lemmas as follows.

Lemma 1.1. [19] Let $T \in \mathcal{B}(\mathcal{H})$ be positive and $\alpha > 0$. Then $\mathcal{R}(T)$ is closed if and only if $\mathcal{R}(T^{\alpha})$ is closed. In this case $\mathcal{R}(T) = \mathcal{R}(T^{\alpha})$.

Lemma 1.2. [9] Let $T \in \mathcal{B}(\mathcal{H})$. Then the reduced minimum modulus of T is defined by:

$$\gamma(T) := \begin{cases} \inf\{\|Tx\|; \|x\| = 1, \ x \in \mathcal{N}(T)^{\perp}\} & \text{if } T \neq 0 \\ +\infty & \text{if } T = 0. \end{cases}$$

Thus, $\gamma(T) > 0$ if and only if T has a closed range.

In the following Lemma, F. Chabbabi et al. proved that T and \hat{T} have the same null subspaces.

Lemma 1.3. [4] For any operator $T \in \mathcal{B}(\mathcal{H})$, we have

$$\mathcal{N}(\widehat{T}) = \mathcal{N}(T).$$

Later, in 2020, C. Benhida et al. [2] give this generalisation.

Lemma 1.4. [2] Let $T \in B(H)$ and $\lambda \in]0, \frac{1}{2}]$. If $N(T) \subset N(T^*)$, then

$$\mathcal{N}(\widehat{T}_{\lambda}) = \mathcal{N}(T).$$

2 EP operators and the generalized mean transform

Recently, the authors in [5] proved that if the range of $T \in B(H)$ is closed then the range of it's mean transform is also closed. Our first theorem in this section, shows that if the null subspace of T is contained in that of its adjoint, then T has closed range if and only if so has its generalized mean transform.

Theorem 2.1. Let $\lambda \in [0, \frac{1}{2}]$ and let $T \in \mathcal{B}(\mathcal{H})$, such that $N(T) \subset N(T^*)$. Then

 $\mathcal{R}(T)$ is closed $\iff \mathcal{R}(\widehat{T}_{\lambda})$ is also closed.

Proof. (\Rightarrow). for $\lambda = \frac{1}{2}$ (see [5]). Let $\lambda \in]0, \frac{1}{2}[$. Suppose that R(T) is closed and $\mathcal{R}(\widehat{T}_{\lambda})$ is not closed. Since $N(T) \subset N(T^*)$, By Lemmas 1.2 and 1.4, there exists a sequence of unit vectors $x_n \in (\mathcal{N}(\widehat{T}_{\lambda}))^{\perp} = N(T)^{\perp}$ such that

$$\widehat{T}_{\lambda}x_n = \frac{1}{2}(|T|^{\lambda}U|T|^{1-\lambda} + |T|^{1-\lambda}U|T|^{\lambda})x_n \longrightarrow 0.$$

Thus

$$|T|^{\lambda}(U|T|^{1-2\lambda}+|T|^{1-2\lambda}U)|T|^{\lambda}x_n\longrightarrow 0$$

Therefore

$$(|T|^{\lambda})^{+}|T|^{\lambda}(U|T|^{1-2\lambda}+|T|^{1-2\lambda}U)|T|^{\lambda}x_{n}\longrightarrow 0.$$

Also, since the condition $N(T) \subset N(T^*)$ is is equivalent to $R(T) \subset R(T^*)$, according to Lemma 1.1, we have

$$R(U) = R(T) \subset R(T^*) = R(|T|^{\lambda}) \text{ and } R(|T|^{1-2\lambda}) = R(|T|^{\lambda}).$$

It follows that

$$(U|T|^{1-2\lambda} + |T|^{1-2\lambda}U)|T|^{\lambda}x_n \longrightarrow 0$$

Put $y_n = |T|^{\lambda} x_n$, it follows that

$$U^*(U|T|^{1-2\lambda} + |T|^{1-2\lambda}U)y_n \longrightarrow 0$$

Thus

$$(|T|^{1-2\lambda} + U^*|T|^{1-2\lambda}U)y_n \longrightarrow 0.$$

Since $|T|^{1-2\lambda}$ and $U^*|T|^{1-2\lambda}U$ are positive operators. Then

$$|T|^{1-2\lambda}y_n \longrightarrow 0 \text{ and } U^*|T|^{1-2\lambda}Uy_n \longrightarrow 0$$

Hence $|T|^{1-2\lambda}|T|^{\lambda}x_n \longrightarrow 0$. Then $|T|x_n \longrightarrow 0$, implies $U|T|x_n \longrightarrow 0$ which is a contradiction with R(T) is closed.

 (\Leftarrow) . Let $\lambda \in]0, \frac{1}{2}]$. Suppose that $R(\widehat{T}_{\lambda})$ is closed and R(T) is not closed. Then by Lemma 1.1, R(|T|) is not closed. Thus there exists a sequence of unit vectors $x_n \in \mathcal{N}(|T|)^{\perp} = \mathcal{N}(\widehat{T}_{\lambda})^{\perp}$, such that $|T|x_n \longrightarrow 0$. Hence

$$|T|^{\lambda}x_n \longrightarrow 0$$
, and $|T|^{1-\lambda}x_n \longrightarrow 0$.

It follows that

$$T|^{\lambda}U|T|^{1-\lambda}x_n \longrightarrow 0 \ and \ |T|^{1-\lambda}U|T|^{\lambda}x_n \longrightarrow 0.$$

Therefore, $\widehat{T}_{\lambda}x_n \longrightarrow 0$. This contradicts the fact that $R(\widehat{T}_{\lambda})$ is closed.

The condition $N(T) \subset N(T^*)$ is necessary in the previous theorem as shown by the following example.

Example 2.2. Let $A = \begin{pmatrix} Q & 0 \\ (I - Q^*Q)^{\frac{1}{2}} & 0 \end{pmatrix} \in \mathcal{B}(\mathcal{H} \oplus \mathcal{H})$, where Q is a contraction and $\mathcal{R}(Q)$ is not closed. it follows that

$$A^*A = \begin{pmatrix} I & 0\\ 0 & 0 \end{pmatrix},$$

is an orthogonal projection. Hence A is a partial isometry. Then $\mathcal{R}(A)$ is closed and $A = A|A| = AA^*A$ is the polar decomposition of A. Since

$$AA^*A = \begin{pmatrix} Q & 0\\ (I - Q^*Q)^{\frac{1}{2}} & 0 \end{pmatrix} \neq \begin{pmatrix} Q & 0\\ 0 & 0 \end{pmatrix} = A^*AA,$$

Then A is not quasinormal. Using [14, Proposition 2.1.], we obtain that $N(A) \nsubseteq N(A^*)$.

On the other hand, for $\lambda \in]0, \frac{1}{2}]$, we have

$$\widehat{A}_{\lambda} = (A^*A)^{\lambda} A (A^*A)^{1-\lambda} + (A^*A)^{1-\lambda} A (A^*A)^{\lambda} = \begin{pmatrix} Q & 0 \\ 0 & 0 \end{pmatrix},$$

so $\mathcal{R}(\widehat{A}_{\lambda})$ is not closed.

As a consequence of the previous Theorem, we get the following result

Corollary 2.3. Let $T \in B(H)$ be hyponormal. Then

 $\mathcal{R}(T)$ is closed $\iff \mathcal{R}(\widehat{T}_{\lambda})$ is also closed.

Proof. Since T is hyponormal, then $N(T) \subset N(T^*)$. So, from the previous theorem, we deduce the equivalence above.

Recently in [20], we showed that an operator $T \in \mathcal{B}(\mathcal{H})$ is EP if and only if its λ -Aluthge transform $\Delta_{\lambda}(T)$ is EP and $\mathcal{R}(T) = \mathcal{R}(\Delta_{\lambda}(T))$, for $\lambda \in]0, 1]$. The following theorem gives the same result in the case of the generalized mean transform.

Theorem 2.4. Let $T \in \mathcal{B}(\mathcal{H})$ and T = U|T| be its polar decomposition. Then for $\lambda \in [0, \frac{1}{2}]$, we have

T is an EP operator $\iff \widehat{T_{\lambda}}$ is EP and $R(T) = R(\widehat{T_{\lambda}})$.

Proof. (\Rightarrow). Suppose that T is EP operator, then $N(T) = N(T^*)$, according to Theorem 2.1, $\mathcal{R}(\widehat{T_{\lambda}})$ is closed. Hence, to prove $\widehat{T_{\lambda}}$ is EP, it is enough to prove that $\mathcal{N}(\widehat{T_{\lambda}}) = \mathcal{N}(\widehat{T_{\lambda}}^*)$. Let us distinct the following two cases:

Case 1: $\lambda = 0$. Let $x \in \mathcal{N}(\widehat{T})$, by Lemma 1.3, we get $x \in \mathcal{N}(T) = \mathcal{N}(T^*)$. Then $U^*x = |T|x = 0$ and thus $\widehat{T}^*x = \frac{1}{2}(|T|U^* + U^*|T|)x = 0$. This shows that $\mathcal{N}(\widehat{T}) \subset \mathcal{N}(\widehat{T}^*)$. Conversely, if $x \in \mathcal{N}(\widehat{T}^*)$, then

$$|T|U^*x + U^*|T|x = 0,$$

and hence

$$U|T|U^*x + UU^*|T|x = U(|T|U^*x + U^*|Tx|) = 0$$

Since $\mathcal{N}(T) = \mathcal{N}(T^*)$, then U is normal. So

$$|T^*|x + |T|x = 0.$$

It follows that

$$||T^*|x,x\rangle + \langle |T|x,x\rangle = \langle |T^*|x+|T|x,x\rangle = 0$$

Since $|T^*|$ and |T| are both positive, we have

$$|||T|^{\frac{1}{2}}x|| = \langle |T|x,x\rangle = 0.$$

Therefore, $x \in \mathcal{N}(|T|) = \mathcal{N}(T)$. As a consequence, we obtain

$$\mathcal{N}(\widehat{T}^*) \subseteq \mathcal{N}(T) = \mathcal{N}(\widehat{T}).$$

On the other hand, taking orthogonal complements in the relation $\mathcal{N}(T) = \mathcal{N}(\widehat{T})$, and since T and \widehat{T} are both EP operators, we deduce that $\mathcal{R}(T) = \mathcal{R}(\widehat{T})$. Case 2. $\lambda \in]0, \frac{1}{2}[$. Let $x \in N(\widehat{T_{\lambda}})$. Since $N(T) = N(|T|^{\lambda}) = N(|T|^{1-\lambda})$, then

$$\widehat{T_{\lambda}}^{*}x = \frac{1}{2}(|T|^{1-\lambda}U^{*}|T|^{\lambda} + |T|^{\lambda}U^{*}|T|^{1-\lambda})x = 0.$$

This shows that $N(\widehat{T_{\lambda}}) \subset N(\widehat{T_{\lambda}}^*)$. Conversly, if $x \in N(\widehat{T_{\lambda}}^*)$, then

$$(|T|^{1-\lambda}U^*|T|^\lambda+|T|^\lambda U^*|T|^{1-\lambda})x=0$$

and hence

$$|T|^{\lambda} (|T|^{1-2\lambda} U^* + U^* |T|^{1-2\lambda}) |T|^{\lambda} x = 0.$$

So

$$U(|T|^{1-2\lambda}U^* + U^*|T|^{1-2\lambda})|T|^{\lambda}x = 0.$$

Put
$$S = |T|^{1-2\lambda}U^* + U^*|T|^{1-2\lambda}$$
 and $y = |T|^{\lambda}x$. Since $\mathcal{N}(T) = \mathcal{N}(T^*)$, then U is normal. So

$$\begin{split} < USy, y > = < U(|T|^{1-2\lambda}U^* + U^*|T|^{1-2\lambda})y, y > \\ = < (|T^*|^{1-2\lambda} + |T|^{1-2\lambda})y, y > \\ = < |T^*|^{1-2\lambda}y, y > + < |T|^{1-2\lambda}y, y > \\ = |||T^*|^{\frac{1-2\lambda}{2}}y||^2 + |||T|^{\frac{1-2\lambda}{2}}y||^2 = 0. \end{split}$$

Thus $|T|^{1-2\lambda}y = 0$. Therefore $|T|^{1-\lambda}x = 0$. Hence $x \in N(T) = N(\widehat{T}_{\lambda})$. (\Leftarrow). Using the assumptions, we get that $\mathcal{R}(T)$ is closed and

$$\mathcal{N}(T^*) = \mathcal{N}(\widehat{T_{\lambda}}^*) = N(\widehat{T_{\lambda}})$$

In case $\lambda = 0$, by Lemma 1.3, we get $\mathcal{N}(T^*) = \mathcal{N}(\widehat{T}) = \mathcal{N}(T)$, and so T is EP. Now, In case $\lambda \in]0, \frac{1}{2}[$, we have

$$N(T) = N(|T|^{\lambda}) = N(|T|^{1-\lambda}) \subset N(\widehat{T_{\lambda}}^*) = N(T^*),$$

which implies $\mathcal{N}(T^*) = \mathcal{N}(\widehat{T}) = \mathcal{N}(T)$. Hence *T* is EP operator. This completes the proof. For $\lambda = \frac{1}{2}$ see [17].

Corollary 2.5. Let $T \in \mathcal{B}(\mathcal{H})$ be an EP operator. It holds that

$$T \text{ is quasinormal } \Longrightarrow \widehat{T_{\lambda}}^+ = \widehat{T_{\lambda}^+}.$$

Proof. Since T is an EP operator, then $\mathcal{H} = \mathcal{R}(T) \oplus \mathcal{N}(T)$. Using this sum, T has the following matrix form :

$$T = \begin{pmatrix} A & 0\\ 0 & 0 \end{pmatrix},$$

where the operator $A : \mathcal{R}(T) \longrightarrow \mathcal{R}(T)$ is invertible. Then, the polar decompositions of T can be decomposed as follows :

$$T = U|T| = \begin{pmatrix} V & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} |A| & 0 \\ 0 & 0 \end{pmatrix}$$

such that A = V|A| is the polar decomposition of A. Therefore,

$$\widehat{T_{\lambda}} = \begin{pmatrix} \widehat{A} & 0\\ 0 & 0 \end{pmatrix}, \quad (\widehat{T_{\lambda}})^+ = \begin{pmatrix} (\widehat{A_{\lambda}})^{-1} & 0\\ 0 & 0 \end{pmatrix},$$

and

$$T^{+} = \begin{pmatrix} A^{-1} & 0 \\ 0 & 0 \end{pmatrix}, \quad \widehat{T_{\lambda}^{+}} = \begin{pmatrix} \widehat{A_{\lambda}^{-1}} & 0 \\ 0 & 0 \end{pmatrix}$$

Hence,

$$(\widehat{T_{\lambda}})^{+} = \widehat{T_{\lambda}^{+}} \iff (\widehat{A_{\lambda}})^{-1} = \widehat{A_{\lambda}^{-1}}.$$

If T is quasinormal, then $(\widehat{T_{\lambda}})^{-1} = T^{-1} = \widehat{T_{\lambda}^{-1}}$, by [2, Theorem 1]. This last equality implies $(\widehat{T_{\lambda}})^+ = \widehat{T_{\lambda}^+}$.

The assumption T is an EP operator is necessary in the previous result as shown by the following example.

Example 2.6. Consider the right shift operator A, defined on the Hilbert space $\ell^2(\mathbb{N})$ by

 $A(x_1, x_2, ...) = (0, x_1, x_2, ...).$

Then,

$$A^*(x_1, x_2, ...) = (x_2, x_3, ...),$$

and so $A^*A = I$. Hence A is isometry, which implies that A is quasinormal and $A^* = A^+$. But A is not EP because $A^*A \neq AA^*$. On the other hand a simple calculation shows that

$$A^*AA^* \neq AA^*A.$$

Thus, A^* is not quasinormal. So

$$(\widehat{A})^+ = A^+ = A^* \neq (\widehat{A^*}) = (\widehat{A^+}).$$

We close this section with the following result that gives various reverse-order laws for Moore-Penrose inverse of T, \widehat{T}_{λ} and $\Delta_{\lambda}(T)$, where T is EP.

Proposition 2.7. *If* $T \in \mathcal{B}(\mathcal{H})$ *is an EP operator, then we have*

(1) $(T\widehat{T_{\lambda}})^+ = \widehat{T_{\lambda}}^+ T^+ \text{ and } (\widehat{T_{\lambda}}T)^+ = T^+ \widehat{T_{\lambda}}^+, \text{ for all } \lambda \in [0, \frac{1}{2}].$

(2)
$$(\Delta_{\lambda}(T)T)^+ = T^+(\Delta_{\lambda}(T))^+$$
 and $(T\Delta_{\lambda}(T))^+ = (\Delta_{\lambda}(T)^+T^+, \text{ for all } \lambda \in [0, 1].$

(3)
$$(\Delta_{\lambda}(T)\widehat{T_{\lambda}})^{+} = (\widehat{T_{\lambda}})^{+}(\Delta_{\lambda}(T))^{+} and (\widehat{T_{\lambda}}\Delta_{\lambda}(T))^{+} = (\Delta_{\lambda}(T))^{+}(\widehat{T_{\lambda}})^{+}, for all \lambda \in [0, \frac{1}{2}]$$

Proof. It follows from [6], [20, Theorem 3.4] and Theorem 2.4.

3 The generalized mean transform of binormal operators

The goal of this section is to explore some properties of the generalized mean transform of binormal operators. First, we gave an example of a binormal operator T such that its generalized mean transform is not binormal.

Example 3.1. Consider $T = \begin{pmatrix} 0 & 0 & 5\\ \frac{1}{2} & \frac{\sqrt{3}}{2} & 0\\ \frac{\sqrt{3}}{2} & -\frac{1}{2} & 0 \end{pmatrix} \in \mathbb{C}^3$ and let T = U|T| be its polar decomposition.

tion. Then T is binormal since

$$TT^*.T^*T = T^*T.TT^* = \begin{pmatrix} 25 & 0 & 0\\ 0 & 1 & 0\\ 0 & 0 & 25 \end{pmatrix}.$$

We also have

$$|T| = \begin{pmatrix} 1 & 0 & 0\\ 0 & 1 & 0\\ 0 & 0 & 5 \end{pmatrix}$$

so that
$$U = T|T|^{-1} = \begin{pmatrix} 0 & 0 & 1\\ \frac{1}{2} & \frac{\sqrt{3}}{2} & 0\\ \frac{\sqrt{3}}{2} & -\frac{1}{2} & 0 \end{pmatrix}$$
. Therefore, for $\lambda \in]0, 1[$, we obtain

$$|T|^{\lambda}U|T|^{1-\lambda} = \begin{pmatrix} 0 & 0 & 5^{1-\lambda} \\ \frac{1}{2} & \frac{\sqrt{3}}{2} & 0 \\ \frac{5^{\lambda}\sqrt{3}}{2} & -\frac{5^{\lambda}}{2} & 0 \end{pmatrix}, \text{ and } |T|^{1-\lambda}U|T|^{\lambda} = \begin{pmatrix} 0 & 0 & 5^{\lambda} \\ \frac{1}{2} & \frac{\sqrt{3}}{2} & 0 \\ \frac{5^{1-\lambda}\sqrt{3}}{2} & -\frac{5^{1-\lambda}}{2} & 0 \end{pmatrix}.$$

Hence,

$$\widehat{T}_{\lambda} = \begin{pmatrix} 0 & 0 & \frac{5^{1-\lambda}+5^{\lambda}}{2} \\ \frac{1}{2} & \frac{\sqrt{3}}{2} & 0 \\ \frac{\sqrt{3}}{4}(5^{\lambda}+5^{1-\lambda}) & -\frac{5^{1-\lambda}+5^{\lambda}}{4} & 0 \end{pmatrix}.$$

It follows that

$$\widehat{T}_{\lambda}\widehat{T}_{\lambda}^{*} = \begin{pmatrix} \frac{(5^{1-\lambda}+5^{\lambda})^{2}}{4} & 0 & 0\\ 0 & 1 & 0\\ 0 & 0 & \frac{(5^{1-\lambda}+5^{\lambda})^{2}}{4} \end{pmatrix}$$

and

$$\widehat{T}_{\lambda}^{*}\widehat{T}_{\lambda} = \begin{pmatrix} \frac{1}{4} + \frac{3}{16}(5^{1-\lambda} + 5^{\lambda})^{2} & \frac{\sqrt{3}}{4} - \frac{\sqrt{3}}{16}(5^{1-\lambda} + 5^{\lambda})^{2} & 0\\ \frac{\sqrt{3}}{4} - \frac{\sqrt{3}}{16}(5^{1-\lambda} + 5^{\lambda})^{2} & \frac{3}{4} + \frac{1}{16}(5^{1-\lambda} + 5^{\lambda})^{2} & 0\\ 0 & 0 & \frac{(5^{1-\lambda} + 5^{\lambda})^{2}}{4} \end{pmatrix}$$

So

$$\hat{T}_{\lambda}^{*}\hat{T}_{\lambda}\hat{T}_{\lambda}\hat{T}_{\lambda}^{*} = \begin{pmatrix} \frac{(5^{1-\lambda}+5^{\lambda})^{2}}{16} + \frac{3}{64}(5^{1-\lambda}+5^{\lambda})^{4} & \frac{\sqrt{3}}{4} - \frac{\sqrt{3}}{16}(5^{1-\lambda}+5^{\lambda})^{2} & 0\\ \frac{\sqrt{3}}{16}(5^{1-\lambda}+5^{\lambda})^{2} - \frac{\sqrt{3}}{64}(5^{1-\lambda}+5^{\lambda})^{4} & \frac{3}{4} + \frac{1}{16}(5^{1-\lambda}+5^{\lambda})^{2} & 0\\ 0 & 0 & \frac{(5^{1-\lambda}+5^{\lambda})^{4}}{16} \end{pmatrix}$$

and

$$\widehat{T}_{\lambda}\widehat{T}_{\lambda}^{*}\widehat{T}_{\lambda}^{*}\widehat{T}_{\lambda} = \begin{pmatrix} \frac{(5^{1-\lambda}+5^{\lambda})^{2}}{16} + \frac{3}{64}(5^{1-\lambda}+5^{\lambda})^{4} & \frac{\sqrt{3}}{16}(5^{1-\lambda}+5^{\lambda})^{2} - \frac{\sqrt{3}}{64}(5^{1-\lambda}+5^{\lambda})^{4} & 0\\ \frac{\sqrt{3}}{4} - \frac{\sqrt{3}}{16}(5^{1-\lambda}+5^{\lambda})^{2} & \frac{3}{4} + \frac{1}{16}(5^{1-\lambda}+5^{\lambda})^{2} & 0\\ 0 & 0 & \frac{(5^{1-\lambda}+5^{\lambda})^{4}}{16} \end{pmatrix}$$

Then \widehat{T}_{λ} is not binormal.

Next, we prove that under certain conditions the generalized mean transform of binormal operator is binormal too. To do so, we use a special class denoted by

$$\delta(\mathcal{H}) := \{ T \in \mathcal{B}(\mathcal{H}) / U^2 | T | = |T| U^2 \}.$$

This class was introduced in [12], in order to study the relationship between a hyponormal operator and its mean transform.

Theorem 3.2. Let $T \in \delta(\mathcal{H})$ and T = U|T| be its polar decomposition. If U is unitary, then for $\lambda \in]0, 1[$, we have

$$T$$
 is binormal $\implies T_{\lambda}$ is binormal.

Proof. First if $T \in \delta(\mathcal{H})$, then by the functional calculus, we obtain $U^2|T|^{\lambda} = |T|^{\lambda}U^2$ for all $\lambda > 0$. This implies $U|T^*|^{\lambda}U = |T|^{\lambda}U^2$. Multiplying this equality by U^* on the right side and since U is unitary, we get

$$U|T^*|^{\lambda} = |T|^{\lambda}U \quad \text{for all } \lambda \in]0,1[. \tag{3.1}$$

It follows that

$$|T^*|^{\lambda}U^* = U^*|T|^{\lambda} \quad \text{for all } \lambda \in]0,1[. \tag{3.2}$$

Also, since T is binormal, we obtain that

$$[|T|^{\alpha}, |T^*|^{\beta}] = [U^*|T|^{\alpha}U, |T|^{\beta}] = 0, \quad \text{for all } \alpha, \beta > 0.$$
(3.3)

$$\begin{split} 4|\widehat{T_{\lambda}}^{*}||\widehat{T_{\lambda}}| &= (|T|^{\lambda}|T^{*}|^{1-\lambda} + |T|^{1-\lambda}|T^{*}|^{\lambda})(U^{*}|T|^{\lambda}U|T|^{1-\lambda} + U^{*}|T|^{1-\lambda}U|T|^{\lambda}) \\ &= |T|^{\lambda}|T^{*}|^{1-\lambda}U^{*}|T|^{\lambda}U|T|^{1-\lambda} + |T|^{\lambda}|T^{*}|^{1-\lambda}U^{*}|T|^{1-\lambda}U|T|^{\lambda} + |T|^{1-\lambda}|T^{*}|^{\lambda}U^{*}|T|^{\lambda}U|T|^{1-\lambda} \\ &+ |T|^{1-\lambda}|T^{*}|^{\lambda}U^{*}|T|^{1-\lambda}U|T|^{\lambda} \\ &= |T||T^{*}|^{1-\lambda}U^{*}|T|^{\lambda}U + |T|^{2\lambda}|T^{*}|^{1-\lambda}U^{*}|T|^{1-\lambda}U + |T|^{2(1-\lambda)}|T^{*}|^{\lambda}U^{*}|T|^{\lambda}U \\ &+ |T||T^{*}|^{\lambda}U^{*}|T|^{1-\lambda}U \\ &= |T|U^{*}|T|U + |T|^{2\lambda}U^{*}|T|^{2(1-\lambda)}U + |T|^{2(1-\lambda)}U^{*}|T|^{2\lambda}U + |T|U^{*}|T|U \quad \text{by (3.2)} \\ &= 2U^{*}|T|U|T| + U^{*}|T|^{2(1-\lambda)}U|T|^{2\lambda} + U^{*}|T|^{2\lambda}U|T|^{2(1-\lambda)} \quad \text{by (3.3)} \end{split}$$

As a consequence, we have

$$|\widehat{T_{\lambda}}^{*}| = \frac{1}{2} (|T|^{\lambda} |T^{*}|^{(1-\lambda)} + |T|^{1-\lambda} |T^{*}|^{\lambda}).$$
(3.5)

We deduce that

$$\begin{split} 4|\widehat{T_{\lambda}}^{*}|^{2} &= \left(|T|^{\lambda}U|T|^{1-\lambda} + |T|^{1-\lambda}U|T|^{\lambda}\right) \left(|T|^{1-\lambda}U^{*}|T|^{\lambda} + |T|^{\lambda}U^{*}|T|^{1-\lambda}\right) \\ &= |T|^{\lambda}U|T|^{2(1-\lambda)}U^{*}|T|^{\lambda} + |T|^{\lambda}U|T|U^{*}|T|^{1-\lambda} + |T|^{1-\lambda}U|T|U^{*}|T|^{\lambda} + |T|^{1-\lambda}U|T|^{2\lambda}U^{*}|T|^{1-\lambda} \\ &= |T|^{\lambda}|T^{*}|^{2(1-\lambda)}|T|^{\lambda} + |T|^{\lambda}|T^{*}||T|^{1-\lambda} + |T|^{1-\lambda}|T^{*}||T|^{\lambda} + |T|^{1-\lambda}|T^{*}|^{2\lambda}|T|^{1-\lambda} \\ &= |T|^{2\lambda}|T^{*}|^{2(1-\lambda)} + |T||T^{*}| + |T^{*}||T| + |T|^{2(1-\lambda)}|T^{*}|^{2\lambda}. \\ &= (|T|^{\lambda}|T^{*}|^{(1-\lambda)} + |T|^{1-\lambda}|T^{*}|^{\lambda})^{2} \end{split}$$

Also, since $|T^*|^\alpha = U|T|^\alpha U^*,$ we have

$$|\widehat{T_{\lambda}}| = \frac{1}{2} (U^* |T|^{\lambda} U |T|^{1-\lambda} + U^* |T|^{(1-\lambda)} U |T|^{\lambda}).$$
(3.4)

$$\begin{split} 4|\widehat{T_{\lambda}}|^{2} &= \left(|T|^{1-\lambda}U^{*}|T|^{\lambda} + |T|^{\lambda}U^{*}|T|^{1-\lambda}\right) \left(|T|^{\lambda}U|T|^{1-\lambda} + |T|^{1-\lambda}U|T|^{\lambda}\right) \\ &= |T|^{1-\lambda}U^{*}|T|^{2\lambda}U|T|^{1-\lambda} + |T|^{1-\lambda}U^{*}|T|U|T|^{\lambda} + |T|^{\lambda}U^{*}|T|U|T|^{1-\lambda} + |T|^{\lambda}U^{*}|T|^{2(1-\lambda)}U|T|^{\lambda} \\ &= U^{*}|T|^{2\lambda}U|T|^{2(1-\lambda)} + 2U^{*}|T|U|T| + U^{*}|T|^{2(1-\lambda)}U|T|^{2\lambda} \\ &= (U^{*}|T|^{\lambda}U|T|^{1-\lambda})^{2} + 2U^{*}|T|U|T| + (U^{*}|T|^{(1-\lambda)}U|T|^{\lambda})^{2} \\ &= \left(U^{*}|T|^{\lambda}U|T|^{1-\lambda} + U^{*}|T|^{(1-\lambda)}U|T|^{\lambda}\right)^{2}. \end{split}$$

Hence, we have

Then,

$$\begin{split} 4|\widehat{T_{\lambda}}||\widehat{T_{\lambda}}^{*}| &= (U^{*}|T|^{\lambda}U|T|^{1-\lambda} + U^{*}|T|^{1-\lambda}U|T|^{\lambda})(|T|^{\lambda}|T^{*}|^{1-\lambda} + |T|^{1-\lambda}|T^{*}|^{\lambda}) \\ &= (U^{*}|T|^{\lambda}U|T|^{1-\lambda}|T|^{\lambda}|T^{*}|^{1-\lambda} + U^{*}|T|^{\lambda}U|T|^{1-\lambda}|T|^{1-\lambda}|T^{*}|^{\lambda} + U^{*}|T|^{1-\lambda}U|T|^{\lambda}|T|^{\lambda}|T^{*}|^{1-\lambda} \\ &+ U^{*}|T|^{1-\lambda}U|T||T^{*}|^{1-\lambda} + U^{*}|T|^{\lambda}U|T|^{2(1-\lambda)}|T^{*}|^{\lambda} + U^{*}|T|^{1-\lambda}U|T|^{2\lambda}|T^{*}|^{1-\lambda} \\ &+ U^{*}|T|^{1-\lambda}U|T||T^{*}|^{\lambda} \\ &= U^{*}|T|^{\lambda}U|T^{*}|^{1-\lambda}|T| + U^{*}|T|^{\lambda}U|T^{*}|^{\lambda}|T|^{2(1-\lambda)} + U^{*}|T|^{1-\lambda}U|T^{*}|^{1-\lambda}|T|^{2\lambda} \\ &+ U^{*}|T|^{1-\lambda}U|T^{*}|^{\lambda}|T| \quad \text{by (3.3)} \\ &= U^{*}|T|U|T| + U^{*}|T|^{2(1-\lambda)}U|T|^{2\lambda} + U^{*}|T|^{2\lambda}U|T|^{2(1-\lambda)} + U^{*}|T|U|T| \quad \text{by (3.1)} \\ &= 2U^{*}|T|U|T| + U^{*}|T|^{2(1-\lambda)}U|T|^{2\lambda} + U^{*}|T|^{2\lambda}U|T|^{2(1-\lambda)}. \end{split}$$

Hence, $\widehat{T_{\lambda}}$ is binormal.

The following result shows that the generalized Aluthge and mean transform of a binormal operator with closed range have the same null subspace.

Proposition 3.3. Let $T \in B(H)$ be binormal with closed range. Then

- (1) $N(|T|^{\alpha}|T^*|^{\beta}) = N(P_{R(T)}R_{R(T^*)}), \text{ for all } \alpha, \beta > 0.$
- (2) $N(\Delta_{\lambda}(T)) = \mathcal{N}(\widehat{T_{\lambda}})$ for all $\lambda \in]0,1[$.

Proof. (1) Since T is binormal, $U^*U|T^*|^\beta x = |T^*|^\beta U^*Ux = 0$ (see [8, Theorem 2]). Then, we have

$$\begin{split} |T|^{\alpha}|T^*|^{\beta}x &= 0 \iff U|T^*|^{\beta}x = 0, \qquad (\text{ because } N(|T|^{\alpha}) = N(U)) \\ \iff U^*U|T^*|^{\beta}x = 0 \\ \iff |T^*|^{\beta}U^*Ux = 0 \\ \iff (|T^*|^{\beta})^+|T^*|^{\beta}U^*Ux = 0 \\ \iff P_{R(T)}R_{R(T^*)}x = 0 \qquad (\text{ since } R(|T^*|^{\beta}) = R(T)). \end{split}$$

Hence $N(|T|^{\alpha}|T^*|^{\beta}) = N(P_{R(T)}R_{R(T^*)}).$

(2) Suppose that $x \in N(\Delta_{\lambda}(T))$, then

$$|T|^{\lambda}U|T|^{1-\lambda}x = 0.$$

It follows that

$$|T|^{\lambda}|T^*|^{1-\lambda}Ux = 0,$$

Since $U|T|^{1-\lambda} = |T^*|^{1-\lambda}U$. Thus, by (1),

$$Ux \in N(|T|^{\lambda}|T^*|^{1-\lambda}) = N(P_{R(T)}R_{R(T^*)}) = N(|T|^{1-\lambda}|T^*|^{\lambda}).$$

So

$$|T|^{1-\lambda}|T^*|^{\lambda}Ux = 0.$$

Consequetly

$$(|T|^{\lambda}|T^{*}|^{1-\lambda}U+|T|^{1-\lambda}|T^{*}|^{\lambda}U)x=(|T|^{\lambda}U|T|^{1-\lambda}+|T|^{1-\lambda}U|T|^{\lambda})x=0.$$

Hence $x \in \mathcal{N}(\widehat{T_{\lambda}})$, which implies that $N(\Delta_{\lambda}(T)) \subset \mathcal{N}(\widehat{T_{\lambda}})$. Conversely, Let $x \in \mathcal{N}(\widehat{T_{\lambda}})$, then

$$(|T|^{\lambda}U|T|^{1-\lambda} + |T|^{1-\lambda}U|T|^{\lambda})x = 0.$$

Thus

$$(|T|^{\lambda}|T^*|^{1-\lambda} + |T|^{1-\lambda}|T^*|^{\lambda})Ux = 0,$$

It follows that

$$\left\langle |T|^{\lambda}|T^*|^{1-\lambda}Ux, Ux\right\rangle + \left\langle |T|^{1-\lambda}|T^*|^{\lambda}Ux, Ux\right\rangle = 0$$

As T is binormal, then $|T|^{\lambda}|T^*|^{1-\lambda}$ and $|T|^{1-\lambda}|T^*|^{\lambda}$ are positive operators and so

$$\| \left(|T|^{\lambda} |T^*|^{1-\lambda} \right)^{\frac{1}{2}} Ux \| = \left\langle |T|^{\lambda} |T^*|^{1-\lambda} Ux, Ux \right\rangle = 0.$$

Therefore,

$$|T|^{\lambda}U|T^*|^{1-\lambda}x = |T|^{\lambda}|T^*|^{1-\lambda}Ux = 0.$$

Then

$$x \in \mathcal{N}(\Delta_{\lambda}(T)).$$

Hence,

$$\mathcal{N}(\widehat{T_{\lambda}}) = \mathcal{N}(\Delta_{\lambda}(T))$$

J	-	-	

In [20, Proposition 3.9], we proved that if $T \in B(H)$ is binormal with closed range, then the range of it's λ -Aluthge transform is closed. It is equally true for the generalized mean transfom as the next theorem shows.

Theorem 3.4. Let $\lambda \in]0, \frac{1}{2}[$. If $T \in B(H)$ is binormal with closed range, then $\mathcal{R}(\widehat{T_{\lambda}})$ is closed.

Proof. Suppose that T is binormal with closed range and $\mathcal{R}(\widehat{T}_{\lambda})$ is not closed. Then there exists a sequence of unit vectors $x_n \in (\mathcal{N}(\widehat{T}_{\lambda}))^{\perp}$ such that

$$(|T|^{\lambda}U|T|^{1-\lambda}+|T|^{1-\lambda}U|T|^{\lambda})x_{n}\longrightarrow 0,$$

Hence,

$$|T|^{\lambda}|T^*|^{1-\lambda}Ux_n + |T|^{1-\lambda}|T^*|^{\lambda}Ux_n \longrightarrow 0.$$

Using Proposition 3.3, $x_n \in \mathcal{N}(\Delta_{\lambda}(T))^{\perp}$, for all n. Moreover, as T is binormal, then $|T|^{\lambda}|T^*|^{1-\lambda}$ and $|T|^{1-\lambda}|T^*|^{\lambda}$ are positive operators and so

$$|T|^{\lambda}|T^*|^{1-\lambda}Ux_n \longrightarrow 0 \text{ and } |T|^{1-\lambda}|T^*|^{\lambda}Ux_n \longrightarrow 0.$$

Thus,

$$\Delta_{\lambda}(T)x_n = |T|^{\lambda}U|T^*|^{1-\lambda}x_n \longrightarrow 0.$$

Therefore, $x_n \in \mathcal{N}(\Delta_{\lambda}(T))^{\perp}$ such that $\Delta_{\lambda}(T)x_n \longrightarrow 0$. This contradicts the fact that $R(\Delta_{\lambda}(T))$ is closed (see [20]).

In [10], the authors discussed the polar decomposition of the Aluthge transform and obtained the following result

Proposition 3.5. Let T = U|T| be the polar decomposition of a binormal operator T. Then $\Delta(T) = U^*U^2|\Delta(T)|$ is also the polar decomposition of $\Delta(T)$.

This result was also proved in [13, *Theorem 4.14*], *for the generalized Aluthge transform. Now, we show the same result in the case of the generalized mean transform as follows :*

Theorem 3.6. Let $\lambda \in]0, \frac{1}{2}[$ and let T = U|T| be the polar decomposition of $T \in \mathcal{B}(\mathcal{H})$. If T is binormal with closed range, then

(1)
$$\widehat{T_{\lambda}} = U|\widehat{T_{\lambda}}|.$$

(2) $\widehat{T_{\lambda}} = U^* U^2 |\widehat{T_{\lambda}}|$ is the polar decomposition of $\widehat{T_{\lambda}}$. *Proof.* (1). From (3.4), we have

$$|\widehat{T_{\lambda}}| = \frac{1}{2} (U^* |T|^{\lambda} U |T|^{1-\lambda} + U^* |T|^{(1-\lambda)} U |T|^{\lambda}).$$

Since $[UU^*, |T|^r] = 0$, for all r > 0, then we get

$$\begin{split} U|\widehat{T_{\lambda}}| &= \frac{1}{2} (UU^* |T|^{\lambda} U |T|^{1-\lambda} + UU^* |T|^{(1-\lambda)} U |T|^{\lambda}) \\ &= \frac{1}{2} (|T|^{\lambda} UU^* U |T|^{1-\lambda} + |T|^{(1-\lambda)} UU^* U |T|^{\lambda}) \\ &= \frac{1}{2} (|T|^{\lambda} U |T|^{1-\lambda} + |T|^{(1-\lambda)} U |T|^{\lambda}) \\ &= \widehat{T_{\lambda}}. \end{split}$$

(2). Firstly, we show that $\widehat{T_{\lambda}} = U^* U^2 |\widehat{T_{\lambda}}|$. Using (1) and Lemma 1.1, we have

$$\begin{split} U^* U^2 |\widehat{T_{\lambda}}| &= U^* U \widehat{T_{\lambda}} = \frac{1}{2} U^* U \left(|T|^{\lambda} U|T|^{1-\lambda} + |T|^{(1-\lambda)} U|T|^{\lambda} \right) . \\ &= \frac{1}{2} \left(|T|^{\lambda} U|T|^{1-\lambda} + |T|^{(1-\lambda)} U|T|^{\lambda} \right) \\ &= \widehat{T_{\lambda}} \end{split}$$

Secondly, since T is binormal, then by putting $\alpha = \lambda$ and $\beta = 1 - \lambda$, $(\lambda \in]0, 1[)$ in [13, Theorem 4.14], we obtain that

$$\Delta_{\lambda}(T) = U^* U^2 |\Delta_{\lambda}(T)|$$

is the polar decomposition of $\Delta_{\lambda}(T)$. So, U^*U^2 is a partial isometry such that $N(\Delta_{\lambda}(T)) = N(U^*U^2)$, which gives by Proposition 3.3 that $N(\widehat{T_{\lambda}}) = N(U^*U^2)$. Hence, $\widehat{T_{\lambda}} = U^*U^2|\widehat{T_{\lambda}}|$ is also the polar decomposition of $\widehat{T_{\lambda}}$.

The following Corollary is a special case of Theorem 3.6 for which the binormal operator is invertible.

Corollary 3.7. Let $T \in B(H)$ be an invertible binormal operator and T = U|T| be its polar decomposition. Then $U|\widehat{T_{\lambda}}|$ is also the polar decomposition of $\widehat{T_{\lambda}}$.

Proof. As T is invertible, U is unitary. Using Theorem 3.6, the proof follows. \Box

The last result of this section gives the polar decomposition for the Moore-Penrose inverse of $\widehat{T_{\lambda}}$ when T is a binormal operator with closed range.

Proposition 3.8. Let T = U|T| be the polar decomposition of $T \in \mathcal{B}(\mathcal{H})$. If T is binormal operator with closed range, then

$$\widehat{T_{\lambda}}^{+} = \frac{1}{2} (U^{*})^{2} U \left(|T|^{\lambda} |T^{*}|^{1-\lambda} + |T|^{1-\lambda} |T^{*}|^{\lambda} \right)^{+}$$

is the polar decomposition of $\widehat{T_{\lambda}}^+$.

Proof. Since T is binormal with closed range, by Theorem 3.4, $R(\widehat{T_{\lambda}})$ is closed and so $\widehat{T_{\lambda}}^+$ exists. According to Theorem 3.6 and [11, Proposition 2.2], the polar decomposition of $\widehat{T_{\lambda}}^+$ is given by

$$\widehat{T_{\lambda}}^{+} = (U^{*})^{2} U |\widehat{T_{\lambda}}^{*}|^{+}$$

Therefore, from (3.5) we conclude that

$$\widehat{T_{\lambda}}^{+} = \frac{1}{2} (U^{*})^{2} U \left(|T|^{\lambda} |T^{*}|^{1-\lambda} + |T|^{1-\lambda} |T^{*}|^{\lambda} \right)^{+}$$

is the polar decomposition of $\widehat{T_{\lambda}}^+$.

4 Conclusion

In this paper, we investigate when an operator $T \in \mathcal{B}(\mathcal{H})$ and its generalized mean transform T_{λ} both have closed ranges, and show that this transform preserves the class of EP operators. Also, we study some relationships between a binormal operator and its generalized mean transform.

References

- [1] A. Aluthge, On p-hyponormal operators for 0 , Integral Equations and Operator Theory, 13, <math>307-315, (1990).
- [2] C. Benhida, M. ChÂŕo, E. Ko and J. E. Lee, On the generalized mean transforms of complex symmetric operators, Banach J. Math. Anal, 14, 842–855, (2020).
- [3] S. L. Campbell, Linear operators for which T^*T and TT^* commute, Proceedings of the American Mathematical Society, **34**, 177–180, (1972).
- [4] F. Chabbabi, R.E. Curto and M. Mbekhta, The mean transform and the mean limit of an operator, Proc. Amer. Math. Soc., 147, 1119–1133, (2019).
- [5] F. Chabbabi and M.Mbekhta, Polar decomposition, Aluthge and Mean Transforms, *linear and Multilinear Algebra and Function Spaces*, **750**, 89–107, (2020).
- [6] D. S. Djordjević, Products of EP operators in Hilbert spaces, Proc. Amer. Math. Soc., 129(6), 1727–1731, (2000).
- [7] D. S. Djordjevic, Characterizations of normal, hyponormal and EP operators, J. Math. Appl., 329, 1181– 1190, (2007).
- [8] T. Furuta, On the polar decomposition of an operator, Acta Sci. Math., 46, 261–268, (1983).
- [9] S.Goldberg, Unbounded Linear Operators, McGraw-Hill, New York, 1966.
- [10] M. Ito, T. Yamazaki and M. Yanagida, On the polar decomposition of the Aluthge transformation and related results, J. Operator Theory, **51**, 303–319, (2004).
- [11] M. R. Jabbarzadeh and M. J. Bakhshkandi, Centered operators via Moore-Penrose inverse and Aluthge transformations, *Filomat*, **31(20)**, 6441–6448, (2017).
- [12] S. Lee, W. Lee, and J. Yoon, The mean transform of bounded linear operators, J. Math. Anal. Appl. 410, 70–81, (2014).
- [13] N. Liu, W. Luo and Q. Xu, The polar decomposition for adjointable operators on Hilbert C* -modules and n-centered operators, Banach J. Math. Anal. 13(3), 627–646, (2019).
- [14] T. Liu, Y. Men and S. Zhu, Weak normal properties of partial isometries, Journal of the Korean Mathematical Society, 56(6), 1489–1502, (2019).
- [15] S. Menkad, S. Zid, Some relationships between an operator and its transform $S_r(T)$, Advances in Operator Theory, **9**, (2024), no.2, https://doi.org/10.1007/s43036-024-00317-w.
- [16] K. Okubo, On weakly unitarily invariant norm and the Aluthge transformation, *Linear Algebra Appl.* **371**, 369–375, (2003).
- [17] D. Pappas, V.N. Katsikis, P.S. Stanimirovi, The λ -Aluthge transform of EP matrices , Filomat, **32**, 4403–4411, (2018).
- [18] P. RAMYA, T. PRASAD and E. SHINE LAL, On (m, n)-class Q and (m, n)-class Q^{*} operators, Palestine Journal of Mathematics, **12(2)**, 353–360, (2023).
- [19] M. Vosough, M. S. Moslehian, and Q. Xu, Closed range and nonclosed range adjointable operators on Hilbert C*-modules, Positivity, 22(3), 701–710, (2018).
- [20] S. Zid, S. Menkad, The λ -Aluthge transform and its applications to some classes of operators, *Filomat*, **36** (1), 289–301, (2022).

Author information

Safa Menkad, Laboratory of Mathematical Techniques (LTM), Department of Mathematics, Faculty of Mathematics and Informatics, University of Batna 2, 05078, Batna, Algeria. E-mail: s.menkad@univ-batna2.dz

Sohir Zid, Department of mathematics and computer science, Institute of sciences, University Center of Barika. Amdoukal Road, Barika, 05001, Algeria. E-mail: sohir.zid@cu-barika.dz

Received: 2023-09-25 Accepted: 2024-05-17